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Quant Mega Quiz for SSC CGL Tier - 2 (Solutions)

$1. Ans.(b)
Sol.
(ab + be + ca)®
= a’b® + b*c® 4+ ¢*a® + 2abbc + 2abca + 2bcca
Or,0 = a®b? + b*c? + c*a® + 2abec(b + a + ¢)
0 =a’b® + b%c® + c*a® + 2pg
=a’b® + b*c?* 4+ c%a® = —2pgq

S$2. Ans.(a)
Sol.
a a 1 1
x°+ v +;+_r_3: 4
Here x = y = 1, satisfies the above equation
Thenx® +y? =141 =2

S$3. Ans.(c)

Sol.

¥ +yi=35andx+y=5

= (x +v)(x*+y* —xy) =35

x4 yi—xy=7 o )]
And (x + v)? = 25

x%+y* 4+ 2xy = 25 (i)
On solving equation (i) and (ii)

3xy =18

Xy =6 ..[iii)
=x+y=5 .(iv)

from (iii) and (iv)
x+y 5 6 Months Subscription
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. 1
=X +—2:5
X

::-x2+l—2=5—2=3
xz

12
::-(x——) =3
x

S5. Ans.(d)

Sol.

va+b+c=8
=2(a-4P+b-3P7+(c—-1)P7-3(a—2)(b—-3)(c—1)
=0

$6. Ans.(c)
Sol.

27p° — ——2p? +1p
1,2 5 1 2% 8
G-y - -0 -5
6 18 6 3 27

S$7. Ans.(b)
Sol.

5VE 4 12VE — 13
By hit & trial

x=4
$8. Ans.(a)
Sol.

x* +2=2x

=>x*-2x+2=0
E&x*—xP+x*+2=(x"—-2x+2)(x*+x—-1)=0

$9. Ans.(b)

Sol.
a:b=2:3&b:c=4:5
=a:b:c=8:12:15

= a®:b*:bc = 64 : 144 : 180
= 16:36: 45

$10. Ans.(d)
Sol.

=}(x+i)(x—$)(x2+;%—1)(xz-I-xiz-l-l)
ey
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S$11. Ans.(c)
Sol. Let the each ratio be K

x _ v _ z o
b—obtc—2a) (c—a)cta—2b) (a—batb-20 O
x=K(b—c)(b+c—2a)=K(b*—c*)—K2a(b—rc)
v=K(c—a)c+a—2b)=K(c? —a?)— K2b(c—a)
z=K(a—b)a+b—2c)= K(a®*—b*)— K2c(a—D)
Onadding, x +v+=z=0

$12. Ans.(c)

Sol.

= 10%48 = x £ 10°7% = y
= x% =y°

= {1[}13.43]2 — (1[}0.?&]2
= 1{]0.483 — (lﬂﬂ.?ﬂjz

= 0.48z = 1.4

140
=z=—=29
48

$13. Ans.(c)
Sol.

1 1 1
xz+ y:—zz= 0
then, x + y — z = 3xy(—z) since, if, a+b+c=0 then a® + b® + ¢? = 3abc
taking cube both sides
= (x+y—z)°=-27xyz
(x+y—2z)*+27xyz=0

S$14. Ans.(b)
Sol.
1
. 2 = = 4
P+
= > 2
2 2p =
Squaring both the sides
1
2 —
+—+2Xpx—=4
v 4p? P =
2 1 TEST SERIES
=5 p _|_ - = 3 sy
4p* Bilingual
$15. Ans.(c)
Sol.
vx=5+2V6
=Jxr=V3+12
1
& —=+3-12
Vx
[ -y
= wx+ﬁ= 2v3 59 Total Tests | eBooks
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$16. Ans.(a)

Sol.

“a+b+c=0

b+ ¢ = —a squaring both sides
b? + ¢? = a® — 2be

a® + b +¢* 5= 2(a® — be)

= =
a® — be (a® — be)

=2-2=0

$17. Ans.(c)

Sol.

= x-‘l‘ _ zxzyz _I_ },2
142 1

#Cﬁ—yﬂzﬂkp+;)—(P—;

4
= 4pix—=4x4=16
pz

$18. Ans.(c)
Sol.

)]

2

1 1 1 1 1 1 1
-5+ o5+ 5+t et o5+ ot -—1
%79 78 %77 %96 .‘{95 %94 X%

Putx = —1
1 1 1 1

1 1

1

—1

TR o T T T D

_l_

= -141-141-141-1-1=-2

$19. Ans.(b)
Sol.

xP=y+z

= xtx=x+v+:z
=2x(x+1)=x+v+z e (i)
Similarly,

vivtil)=x+vy+=z (i)
and

zZ(z+1)=x+y+=z .. (iii)
On adding (i), (ii)and (iii)

. 1 1 1
"x+1+y+1+z+1

_ x v z

x+y+z+x+y+z+x+y+z

_xtytz L

_x+y+z_

D= (—D* (D
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$20. Ans.(d)

Sol.

(ad — be)* + (ac + bd)?

= a’d? + b*c? — 2achd + a’c* + b*d? + 2abcd
=a’d® + bc* + a’c® + b3d*

= d*(a® + b*) + c*(a® + b?)

=(c* +d*)(a* + b?)

=1x2=2

$21. Ans.(a)
Sol.

1.5a = 0.04b

b 15 150

a 004 4

By componendo and dividend
h—a_lEﬂ—4_146_?3
b+a 150+4 154 77

$22. Ans.(a)
Sol.
af+b%+ab . al+ b3+ab

a*-b® (a—b){a®+bZ+ah)

$23. Ans.(a)
Sol.

p = 999 (Given)
Now, y/p(p2 +3p+3) +1
=YpP+3p2+ 3p+1

=V(p+1?
—p+1=999+1
— 1000

S$24. Ans.(c)
Sol. Herex=3,y=5,z=4

9
PR
1+41+1=3
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$25. Ans.(b)

Sol.

a®—b?—2bc—c®*  a®-(b+c)?
aZ+b2+2ab-c?  (a+b)i—c2
_fat+(b+c)]la—(b+c)] a—-b-c
" (a+b+c)a+b—-c) a+b-c

Given

$26. Ans.(d)

Sol. For Maximum value
1
4

(1+a)(1+bB)(1+e)(1+d)

~(143) (D) (13 +3)
-3

$27. Ans.(a)
Sol.
1 2 3
i a2 +bi2+¢
1 2 1
= T = a(Z]f + 5(2)5 +c
254+25+1
1
On multiplying numerator and denominator by (28_ - 1)
2% -1 2 1
= 5 I =a.254+b.254 ¢
(25-1) (27427 +1)
1
25—-1 2 1
51 =a.284+b.28 +¢

~a=0b=1c= -1
atbt+tec=0+1-1=0

$28. Ans.(b)
Sol.

_W5+1 V541 _ 45+1

\VE—1  45-1 " \B+1

a

_(V5+1) _5+1+2v5
51 2
3+45

2
Similarly,

348
2

3445 3-45
at+b= "f_-l- J_=3

2 2

i+l V5-1
V5—1 5+ 1
az+ab+bz_(a+b)z—ab
a’—ab+b? (a+b)?—3ab
-1 9-1 8 4

a =

b

and ab =

3?—-3 9-3 6 3
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$29. Ans.(c)
Sol.x = (i/a ++Va?+ b3+ i/a —Va? + b3)

On cubing both sides.

x3=(ija+\fm+aa—\/m)g ENGLIS

(ﬁ) (_ﬁ) NEETU SINGH
+3( +m)( _m) 12t May

[J+W+J_m]

N e N = [ O e Y |

1
=2a+3(a®—a®—b¥)3x
~x?=2a+3(-h)x
x¥ + 3bx = 2a

$30. Ans.(c)
Sol. Average of x and i =M

x-l-x 1
= =Mx+-—=2M
2 X

On squaring both sides

1
(x+—) = (2M)?
x
1 5
x*+—+ 2=4M?
22
1
=x+—=4aM* -2
x

1
22

- xg +

Average x” + ==
X

_4aM* -2 2(2M* -1)

2 2

,=2M% -1
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